TRH29EE LEHOMBRAESMLOELET

TEOEIAIZTHOMBOEEEZ M > TN =E=0IC, BFBIR R EE2RARLTLET,
SEIE, EH29FEE X BOBMBIRRESMSEBLET,

1. IRA RV HOHE5R

(1) —BEFFOHITRR (ER2949 30 BE B HH)
% A = H
X 5 FEHBE | WAKE | #FX X 5 FEBRE | THEE | #aX
H B 193,035 | 126,234 654%( = = = 16,975 8.484 50.0%
x A B % 877686 | 574226 654% | v B = 295168 81517 27.6%
KESRUAERS 36,703 7472 204%| E & & 522931 183.679 35.1%
8 R O B 36,460 18157 08l ® £ 2= 176.164 27.888 15.8%
X H % 337.875 68.663 203%| % @ & 1103 429 38.9%
B x H % 305.143 16.907 55% || EakokExE 316.121 37.950 12.0%
% Y A 296,109 | 105106 355%| B T 2 & 48,667 17.286 35.5%
H & 382.036 0 0% || £ A« = 233599 23.088 9.9%
T 67.480 23.869 35.4%
5 = 444619 168,843 38.0%
% =% B & 135,055 14.980 111%
N & B 204.965 91912 44.8%
¥ B & 2,000 0 0.0%
& =t 2465047 | 916,765 37.2% N E 2465047 | 679925 27.6%
A EFERE nNAKE
100.0001 e
80.0001
%0.0001
00001 EEXHSE B¥Me  mga PR
20,0001 Lk EARRUFHH
' SESRUEES
0.0001 ] = I I N
7P b B EE
A - B EHE X HFE
50.0001 . —
40,0001 ]
i BT EHOKELE
30.0001 — Ta—
F . — NEE
20.0001 mER e —
10,0001 | H — BIE e Uik H L
R = Pl
(2) BRI SETORMITRR (B F)
- RABRITIRR R HBATIRR
2 K4 FHBEA \ \
= ” HREN IRAEEEB) | WARB)/(A) | HFFC) | ZHZE(C)/(A)
MEBHICELDEMER St 21,764 5187 23.8% 3,006 13.8%
ESESEEXILEERNLE 5,669 2380 42.0% 1,984 35.0%
Y EE 438917 166,557 37.9% 170,155 38.8%
HEESBEERS NS 41,629 10,259 24.6% 9,655 23.2%
I 359,788 141,607 39.4% 137,885 38.3%
5 5 K 8 E X8 3 & & 22,864 4,883 21.4% 8,189 35.8%
EXEEHEKELENLE 8,389 1,030 12.3% 3,455 41.2%
Bl EEREEESLER S 22,630 4016 17.7% 8,349 36.9%
EREAAGSELESELESE 34,873 11113 31.9% 16,780 48.1%
B KEZEESEHOIMITRT (Bhr:5M)
X 2 FEREE(A) INA S HEE(B) INA-ZHEB)/(A)
A EEEE 17,811 8,624 48.4%
REHVARUXHE 5 g 7476 2730 27.0%
] A E A M I A 5578 78 1.4%
HANDARUIE 5=~ 72079 378 1%




2. WE. RMERV—FEAEDEES

(DHMEDRR
TH29E3HEK| LHEH [ THR29E98%
HECHE B ot mEs | ® %
+ ) 36.405516 A 597| 36,404919|8f7: n
5 5 m % 14,270,360 A 597| 14,069,763 |8 f7: m
Z ) 233,447 A 191 233,256 B f: m
kv X 372,236 0 372.236| B m
= & 196 NE FEE
(Q)ES(FEUIS)DKR (B HM)
AN L2943 AR L3R L2949 AR
= o B S B wo=
1 M B #H B B % 427427] A 40,000 387,427
2 W & =3 & 74,629 0 74,629
3 % O % = B M E % 498,305] A 15,048 483257
4 %8 2 A H & 16,620 0 16,620|Be0BmESTIEAEN
2% = 1016981 A 55048 961,033
| MEAMY_ Lt EMBEES 7774 0 7774
2 E S EREBEXILEES 2,193 0 2193
3 E & = & B % % 9,937 0 9.937
4 fr & o B E 5 E % 41213 6.806 48019
5 B B K ia E 2 3,186 78 3.064
6 B ¥ & E B ok = ¥ E & 413 6 419
7 % b BB 1 H E B % 10,560 227 10,787
8 E B = ®H % 2,074 A 529 1545
fl%%l &% it 77.350 6,588 83,938
1094.331| A 48,460] 1,045871
“B’éﬂ%b\fﬁid)gﬁi EBRELTAY. FIAICON TR, EERCERESCEHLEATITONET,
@) mEUEAS) DRR (B AM)
AN L2943 AR L3R L2999 AR
= o B S B wo=
1 n * = x = & 8,592 A 1150 7442
2 N =B T B & = ¥ B 19,058 A 353 19,605
3 % = 5 H = E & 16,331 2527 18,858
I B8 Rl BEEEREEZRE 37,616 A 4151 33,465
b — & By = = & 510,741| A 37,645 473,096
6 B B N & = E & 160,919] A 10,556 150,363
] EOBEATE BAEREEE HE 0 0 0
8 B B xt & & 12,690 A 1905 10,785
9 B B o B % Bl & 761 A 360 407
10 W B i B = 7 445 A 837 6.608
11 B B % I\ @™ B & 417 A 208 209
12 B B B B N ® & 676,369] A 22263 654,106
13 &% = B B & & % 788 A 121 667
—MRAEt =t 1452627| A 77.022] 1.375605
T B 5 ok & 2= = 85,005 A 3406 81,599
2 B ¥ £ E B K = = 38,778 A 1472 37.306
3 % 1t B B B H £ = % 33,797 774 34571
4 E = = = = 6,158 A 3.064 3,094
BRIAT =t 163,738 A 7.168 156,570
7K & = ¥ 29,388 A 1308 28,080
& =t 1645753] A 85498| 1560255
4)—FBEAEDIRR
2949830 R IR, —HEADEHYEL A,
3. TEODEHDRRK
X 294E9 A 30 B WAEDTAEHRAD 22530 A
O mMRE—ABEYO—BEstFTEEE 109.4 M
SEh A EEE 8.6 AH ® SELAbht
O MR—AGFYO—REsTES KRS 427 BH B BGR B BUR

O ME—ABFYO—BEsthERS 61.1 AHM & 63-4802



